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L e v = fa i smedd | 1. Whennatural productg o
‘qﬂ'cfﬁﬁ o S & S T S %2 fl?;(r:l‘:nt:;mlgh 0T m, thaitd nto othe,
(1) Q'(ﬁ'qiﬁﬁ'ﬂ HSSC CET Gro p D (1) Tertiary sector Uring, jt i
(2) Slefien & QU estion P aper (2) Industrial secty,
) Wm 21 Oct 2023 (3) Primary sector
4) GIRCRE 2nd J (4) Secondary secty,
(5) W G |G nd Shift _ (5) Not attempted
g, WA WY % T ot TR 'F"Iﬁ' & @ e | 2, In which district of g
& Khajuraho Group OfMOHHmZ?\t:gdesh 4
) TR | (1) Chhatarpur B
(2) Jabalpur
((?) ajm%{ (3) Gwalior
@ @R ! ) i : (4) Indore
(5) Sﬁ( '-Féf S eIl b (5). Not attempted
3. WRdH fafatea -q A DM 'HIWT?Tcﬁ [ TR 3. Which of the following is not part of the
5 e : Panchayat1 Raj system in India ?
mqﬁ% i ' (1)  Zila Parishad
AP mm iy () Gram Parishad
2 mm (3)  Gram Sabha
S SR i (4) Gram Panchayat
(4)  FEUEEA /. (5) Notattempted
(5) IR < = , Ll
": il o |4 Where is the National Gallery of Mode™*
4, WWWWW . located? '
1) foeett ' (1) = New Delhi
@ 2 A ‘ ‘; (2) Kolkata
@ AR ,,‘\(4) Nagpur
(5 X & & %"33 1 (S) | Not attempted
R o hrtid Il et
i’ Wwﬂﬁwﬁmwﬁmmw S icket Tournamen
i (1) Sri Lanka
(2) AT (2) Nepal
BL i @ Pakistan
(4 mag'&m R et ) il (4) Bangladesh /.{
5) W il
(5 | A (5) Not attempted ,_,,/pa
HANTV/F2 mmﬁ%i’mwm/smcs FOR ROUGH WORK

! 1 /
#,
AN /

4 1"
/

R 4



6.

8.
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g T 7 forw o o Iovivem weew & o dge

6. In which year did the United Nations adopt
= feenfre =) e ? the UN Guidelines for Consumer Protection ?
(1) 1985 (1) 1985
2) 1990 (2) 1990
(3) 1986 (3) 1986
(4) 1987 (4) 1987
(5) ST < =R (5)  Not attempted

. » & )
iy i fem ¥ 7.  Where is Salar Jung Museum located ?
0 (1)  Mysore |
(2) e (2) Goa
(3) (3) Bhopal
@) SIS (4) Hyderabad
(5) W ol ol Sed (5) Not attempted 5
AT FERR! o SR H frefefen Heri T foem 8. Consider the following statements about
FALN I T FHE Tl T 72 Democratic Governments. Which statement
(1) Tas B AAHEITE e & w9 T is not correct ?
Rl (1) Democracy is also known as
AT 7 T T o tative d
) o ﬁ . representative emocracy.
& (2) Democracy guarantees universal adult
' L : franchise
(3)  iiehea 8 A bt ST et i fretifed (3) Indemocracy people have power to elect
1 AR T &l their leaders
ETE R R RE G R R aﬁ ST S % | (4)  Democracy is also known as Oligarchy
(5) W T IR (5) Not attempted
9. Y F ‘Hien U’ = wel w1 € 2 9. Why Earth is called the ‘blue planet’ ?
(1) Hifs 3o sftem ®) (1) Because it has life.
2) quﬁ.; 11"_"& 1 91 iy Q ot o © (2) Because more than 91% of the Earth is
? covered with water.
R i (3) Because it is blue i 1
B) e e (4) Because inls t;e 11?7(1:°o/0uf1-';h Earth
s ore than 0 O e Earth is
}4) 3@ =1 71 Ffaem | af% | covered with water.
FesIed ¥ | (5) Not attempted
(5) WA R ‘
10. In which year did Gandhiji arrive in Indi
! mﬁﬁmmﬂmﬁmaﬁﬁwm South Africa ? : gD o
g2, - (1) 1917
((2’, igg 2) 1921
(3) 1907 (i) Wbl
(4 1915 (4111915
H\ﬂ T T & =R (5) Not attempted
ANTV | F2 T &I @ 10 2Tl | SPACE FOR ROUGH WORK
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»11) ‘ N ¥
Q) =i
12. Correctly n
List .

' (A) Ryot
i" 1 [ o | - 1 ]' S
~ | (B)
i) ‘
( (©
: o W (IT)
(111)
[ qL {IV)
N R S e .r\r—”V«.;‘ DN Ly S Sy S0 LT W
9 IQY 1Y 19ehetl H 8 Hal 3<iX bl F4 (ST
I1I), (B)-(11), (C)-(IV), (D)-(T)
, (D)-(I1I)
! ' !
(D)-(I1I) ‘ &
|
’ l\
T e R
N AR | 13.

4
ay
aly
)

3anvan
) r,uv;A' ATl

l\ \ Willow tree
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@ e .jght
i .r run by €igh
B o e s vt e AR (L omen i lCakCPRERE
33 ' 3N &R S S ?, forq wIr Uttar Pradesh, comes out in which loca
Wﬁﬁ i 'Eﬁ'ﬂl%? language ?
() (1)  Pishoni
@) s 2) Awadhi
(@) gl (3 Bundell
((4) S5A (4) Tulu
(5) S I =R (5) Not attempted
i i into
a1 | ) . The substances which turn red litmus in
16. 3 TR W o foerw W A G A A WG A | 16 i el cn
o Y 1 Neutral
1) SIEH (1)
5 T ; (2) Acidic or Basic
& o (3) Acidic
A (4) Basic
i (5) Not attempted
(5) W TR o =R ; |
17; The normal temperature of human body is :
17. S ¥ YRR 1 W A B € 1) 98.4°C
oy @) 98°C
/g 35°C (3) 35°c
@4 37°C @l 87°C
(5) SO 1 =Rd (5) Not attempted
18, Freffad @ % @ ¥ o o § WEER A | 18, Which of the following helps in clotting of
®? i } blood ?
(1) I ! (1) Platelets
P TRE T BRI (2) White Blood Cells
fedrafs )] Haemoglobin
2 STt T SHTOTERIT (4) Red Blood Corpuscles
::: =R &l 2 =ed (5) Not attempted
<= i 1 g 3T Areh o 19. Which is the most common carrier of
- i X i A communicable diseases ?
(1) - (1) Dragonfly
2) (2) ' Ant
(3) =] Al (3) Housefly
(4) ol (4)  Fruitfly
(5) =@t & ATed (5) Not attempted
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20. <
9 e S U favw & ® & U St 3R 20. Species found only in
FEa T known as : 2 pay,
(1) Hhaa= (1) Endangered
: (2) Endemic
/t‘;; (3) Rare
oY (4) Extinct
4 foaqqw (5) Not attempted
(5) WA S HRd
¢ 21. Select the non-metal
21. frferaa # Q s1eg 1 = B () Iron & from ¢,
(1) e (2) Sodium
P IUERE 3) Sulphur
A3) R (4) Copper
(4) s (5) Not attempted
(5) ST E < ARd 22. Match the items given in ¢y,
22. W-Iﬁﬁ‘lmﬂa’fﬁm-nﬁﬁqmqﬁa; thosemCo:umn-II.
|1 gﬂli—ﬁl ShITSIT | il (A) Chloroplast D) L
lan
(A) FTANERE I)  helIgR GrEn (B) Rhizobium (II) ga;a
B) (11) qTSiat drem (C) Cuscuta (I1]) Les
Cc) SHEd (D) Pitcher plant (V) Insy
(©) (II1) o= ( ]s..
F(DE'.!]’ S i %) preveft de Choose the correct options bflx
ferehed gi7d - 1) (A)- 2 J q
(1) (A)-(D), (B)-(1D), (9)-1V), (D)-(1) :2; EA;g;)I)(S)(I(g)) (g) (;V),D(D)r"'
@) (A)-), (B)-1), (©)-0), (0)-V) : i
@ (a)-m), B)-0, ©-0), D-0V) FEERER G O): ) (0, D
@) (A)-), (B)-[), (C)-0) (D)-AV) (4) (A)-(1D), (B)-(1D), (C)-(0, (DI
(5) W &} &A1 =red (5) Not attempted
23. weM-1H fe 77T A<] @l hTet - 11, # g e | 23 Match the items in Column - I+
¥ ey gt HIIg : Column - II':
I i
1 I : .
(A) Typhoid . Viv
(A) I (B) Hepatitis A ay Fo
(B) FIEREH i iR (C) Malaria (am) B+
(C),4 T 1) SfErg (D) Wheat rust ) P
(D) % 1 V) TrrsHeT Choose the correct answer o’
ﬁmmmfﬁﬁvﬁwmwﬁﬁm: below : 4
1) (@)-a, (8)-0, ©-1V), (O ‘ (@) (&), @-w, ©-V)
2 (A)-0), B-), ©)-00, D)-(V) @) (A1), (B)-), (©)-(D, P
@ ()-00, (B)-0), (C)-(111), (D)-(1V) (38)  (A)-(), (B)-(1), (O)-(1D); (O
(A)-(111), (B)-(), (C)-(1V), (D)-(11) @) (A)-@m), (B)-), (C)-IV) "
(5) Not attempted

(5) W?ﬁ%’"
HANTV /F2
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It T fie 1oomaﬁ§ﬁsaﬁﬁﬂ“mﬁ'

24.

If a body covers 100 km in 5 hours its speed
will be :

TR TR (1) 20 km/hour
A1) 20 f&HA /5 : (2) 500 km/hour
) 500 f&.dl. /5@ (3) 20 meter/hour
(3) 20 HiE/H (4) 20 centimeter/hour
(4) 20 Y/ s (5) Not attempted
(5) S & e
25. . Which is the best conductor of heat from the
25, frefefiagd § & -1 SO I Faq IH AP g7 following ?
1) S (1) Silver
(2) Aluminium
i Gk
(4) Keroseneé
) ?iflﬁ:a > (5) Not attempted
06. T '&ﬁﬂo‘ﬁ%‘iﬁr{m'@?ﬁ%l 26. gégcl?i(tenlg}lfigtfi.ness is caused due to the
(1) fefmc (1)  Vitamin C
(2) fofD (2) Vitamin D
(3) TfmA (3) Vitamin A
4 TRfEB (4) Vitamin B
(50 SW TN ERd (5) Not attempted
27. faa=dayg AfererTad o eaeh h HIEH Jgigear | 27.  Cockroach breathe through network of air
% o= el ST 21 ‘ tubes called _ :
(1) et (1) Diaphragm
@) o (2) Stomata
TR AR (G)e Gall
- TFFWﬁ. (4) Trachea
g; N (5) Not attempted
j8. FreAffan & & i w1 o wafed G T &2 a8 };‘fﬁ;;‘;e S el mot 8 deficiency
/6 = : (1) Goitre
(2) () Scurvy
(3) (3) Anaemia
(4) =R (4) Malaria
5) TR 72 &A1 =Ed (5) Not attempted
Page 7
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29. ﬁmﬁf@aﬁﬁaﬁqmu@mwmﬁ@m%?

29. The planet which appears reddish in Colgy,

(1) % 18
| .(1) Venus
(2) Mars
3
(B) g (3) Earth
BT (4) Mercury
(5) ST T TR

(5) Not attempted

30. HTeM - I ¥ o T W A e - I, A fow o e

30. Match the items given in Column - With
& T Ao W those in Column - II :
II - (wfemam) I - (Digestive Organ) I - (Process)
(A) S T (A) Small Intestine (I)  Chewing of fooq
B 3 e 57 Fort (B) Large Intestine (II) Churning offooq
) y X ¥ (C) Stomach (IIT)  Absorption of
(¢ - N (III) IS T ST food
D) IV) ¥ 1 991 (D) Mouth (IV) Formation of
et foereg i : faeces
(1) (&)-am), (B)-(v), (C)-(1), (D)- (1) Choose the correct options below :
y(zr (A)-(IIT), (B)-(IV), (©)-(11), (D)-() (1) (A)-(Im), (B)-(IV), (C)-(0), (D)-(11)
B)  (A)-@V), (B)-(I11), (O)-(1), (D)-(I1) (@) (A)-(mI), (B)-(IV), (C)-(11), (D)-(1)
@) (A)-0v), (B)-[), (C)-(u), (D)-(1) ) (A)-aV), (B)-(m), (C)-(1), (D)-(1)
(5) SR < =ed | (4 (A)-(V), (B)-(1), (C)-(I11), (D)-(11)

(5) ‘Not attempted
31. T HYA SR 3T a1 < Frew (1) 3k (1) e

feu 7T F2Hi S §F A T AR o HR 9 92 | 31,

Two statements are given, followed by two

3 o A =0 7 W A B, ol %Hﬁ‘—['&ﬂ/@ conclusiogs (I) and (II). Assuming the
e g e statements to be true even if they seem tol¢
ﬁ&mi\ ;s FU o STHR T T Fea at variance from the commonly known facts
%/ﬁmﬁ | : decide which of the conclusions logicall
: 57 ?ﬁ Tt ¥ follow(s) from the given statements.
5o fuah ¥ Stafements: Some dogs are fishes.
: 0 B ¥ e Some fishes are birds.
fereerd S : irg$:
(m F3 9 F9 I °ns: ()  Some dogs are birds
. m s i g>
(1) = (1) AT (1) 2 frehea ¥ | (1) Both conclusi()m (I())me g -
S
= 1 e (1) &R A € (1) Freeran & (2)  Neith chia T
R g er conclusion (I) nor (1) follows
(3) e foe (1) Foepeman & () Only conclusion (1) follows
(4) e e (1) e § (4} Only conclusion (I1) follows
(5) T (5)  Not attempteq
YT % BT  ert 2e1e1 | SPACE FOR ROUGH WORK page’




32.

33.

34.
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39 foashed 1 997 Y S T U O S YhR Heifid
? S THU % TR U Q@ Wefd R
W:qéﬁm::‘{a:k?w_
(1) Wi
(2) TEEES
LSu
@ =T
(5) ST < AR
fowm =1 997 SifsT)
()
()
(B HIR
et
(5) SWTE oA AR

i SIS STeRT o THE I ST v H e T
T Hereill & 34 HaAH % 99 S SEh SIER
3TeR I AT HA T Teh LYY o5 & |

N BRSNS e A TR G

L . 25t 36 IS8 H6

[1y" B8'5.4.2.64

2,6,3,1,4,5

5,4,2,1,6,3

3%5'6.2,4,1

SR AL <A1 =R

(3)
(4)
()

35, ufz uw fafvad Few™ & ‘MUSSOORIE’ i

‘OTURQNTHG’ feran < &, at 3wt gesmn #
DELHI’ %! =1 feran s ?

32.

33.

34.

35.

Choose the option which is related to the third
term in the same way as the second term 18
related to the first.

Mosquito : Malaria::Rat: __?

(1) Rabies

(2) Typhoid

() Plague

(4) Dengue

(5) Not attempted
Find the odd one out.
(1) Sparrow

(2) Parrot

(3) Pigeon

(4) Kiwi

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly form a meaningful word.

L N S A I G
1 2 3 4 S 6
(1 3,54,2,6,1

@)¥52, 6,3 114,55

) 5,4,2,1,6,3

4 3,56,2,4,1

(5) " Not attempted

If in a certain code language MUSSOORIE?’ is
written as ‘OTURQNTHG’, then how will
‘DELHI’ be written in that code ?

(1) FCNFK (1) FCNFK
() FCNGJ (2) FCNGJ
b FDMGK (3) FDMGK
(4) FDNGK (4) FDNGK
(5) W 6 ol <%d (5) Not attempted
HANTY / F2 2% 1 % foTe 2w | SPACE FOR ROUGH WORK Paaas
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36. T <t ¢ St F g R My I A | | 36, Read the following information to answer
A*BHI 3t g ‘B A : ' question below :
4 ) aﬂ A :
ASBEaf g ‘A Bﬁ:if%l" A*Bmeans‘BlSthebrotherofA.

‘A is the wife of B’.
A# ¢ ) A $ B means Alst
BHI R ‘B AT G| A # B means ‘B is the son of A"

RI ‘P;S Q*R# 8%, i fean T & w1 e i PO *R # S then, which of the folloy,
Wb statements is true ?
M R QFfm (1)  Ris the father of Q
@ S, QR (2) S is the nephew of Q
B S PHTRI (3) Sisthe son of P
R, P QNTER gl (4) Ris the father-in-law of P
‘)é‘)k I & =R (5) Not attempted
ks Sl i R 1 3 37. Find the missing term __?  in the series,
195, 255 oo o g e 1
) = % e e 5705105
@) =2 (1)L
e @) ~2
S o (3) 2
5) SR s
38. TRAI24 m IREH Ht SR T o 915 T ST TSH (5) Not attempted

S| 39 ST 3R 1
et © T 96 T S gga”} € © 38. Sarita walks 24 m towards West, then turns

m TR €1 GA: FE A S FSH 24 m Tl €| to her right and walks 24 m and then turns o
it 37a 3197 SR foig 9 ferat X aen for faum her left and walks 16 m. Again she turnst
337 her left and walks 24 m. How far and in which
direction is Sarita from her starting point ?

4978 10 oo (1) 40 m, North
7/9,}/ 40 m, 9f=M (2) 40 m, West

(3) 32m,3W (3) 32 m, North .

(4) 48 m, 9f¥=H 4) 48 m, West

(5) S TG & =ed (5)  Not attempted

39. BEMEP,Q,R, S, T 3R U IHH IR Yg HTh Th

: 39. SixfriendsP, Q,R, S ing I8
T frs@mEu Al SE,Q,R, S, Tand U are standing
ofer 4 @ €, <ife SRS a row facing North but not necessarily in

P At R FACE Q, T H I DA same order. ‘P’ is to the left of T’ and t0 *

3 ATt & o s, U H A SR E ) Q) TS right of R’ ‘Q’is on the right of T but t0 %

FAE? left of 'S’ who is to the left of U”, Who are ¥

_ neighbours of @’ ?

(1) T#RS () TandsS

2 BARR (2 PandR

Y b (3) TandU

W par 4) PandT

L 2t o e (5) Not attempted -
HANTV / F2 2% e & fe1e 2ire / SPACE FOR ROUGH WORK page "
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Ryt &1 SR ford} TR & T PEHAR F 21 | 40. Priyanka’s birthday falls on the third Friday
B W ; P of a month. The fourth day of that month is
I ‘ € our ay o at mo .
et e 1 H\\Ti’ﬂ.fﬂ? T 1 Tl i the first Monday of the month. What is the
& TS B eI €7 date of Priyanka’s birthday ?
(1) 22 ()i dn
2 15 (2) 15ta
g 23 (3) 23t
4 21 4) 21st
(5) SN T < =med (5) Not attempted
41 (0,5><0,5+0.5—:—5)W%: 41. (0.5%0.5+0.5+5)isequalto:
(1) 035 (U020
2) 0.45 (2) 045
3) 0.15 @ 0.15
0.25 4) 025
(5) SW® T 1 9ed (5) Not attempted
42, SHTENS 2p,5pTM7 pFH LCM 3. 42. The L.C.M. of three numbers 2 p, Spand 7 p
- . .CM.%: S :
1y 75 p3 (1) 75p
g i 1OP @ 70p
(3 70p (3) 70p
(4) 65p 4) 65p
£ Bl Tl & = (5) Not attempted
3 1 43. For which sum, the simple interest at the rate
43. fFEURM® 3% At WH 23 ST I HHRT
3 1
AN Z210%2? ofSZ%perannumwﬂlbe?ZIOin 25 years ?
s 72,800 (1)  %2,800
(2) ¥2,500 2) ¥2,500
(3) 1,580 3) ¥1,580
(4) %2,400 @ 22,400
(5) T AE & e (5) Not attempted
44, 7fz o7 b < fum o ¥ A FA-WTE | 44, Ifaand b are two distinct integers, then which
27 of the following is incorrect ?
() a+0=0+a=a (1) at0=0+a=a
2) a-0=az0-a (2) a-0=a#0-a
(3) a+b=h+a (3) atb=b+ta
{9 a-b=b-2 (4) a-b=b-a
(5) TW =& 2 = (5)  Not attempted
HANTV/ F2 2 a1d % fe1e 2 | SPACE FOR ROUGH WORK P
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45, - w
mmaﬁawﬁwgwﬁmmwﬁﬁ

k1

ertai ber is divided into |
WS T 3 45. A certain num : WO iy
b S T Y ; such that 5 times the first part ade ta 1,
& 57 7 T W ET{ N % 11 T H Gﬁ??f‘ﬂ times the second part makes 7 n,,“,H“””
SRR ST ot v o TE Y number, 'I‘l.w ratio of the first part to ||l|‘.
second part is : :
AT seconc
) N ",
@), 2:3 ‘
R) 248
/‘3( L34 (
4 5:11 Sl R
5) T 4 5:11
(5) Not attempted
ST S I WO ¥ 65% % TR 1 | 46, Half of a certain number is equal to 65y, .
RSl W{Hﬁmﬁ 31':[‘11'(7%: the second number. The ratip of the fiyg
() 1348 number to the second number is :
@ 13:10 (1) AFELSH8
38)~10:13 ()Rl
/(4)/8:13 (B)RIN10 13
(5) ST I (4) 8:13
(5) Not attempted
47. 10mX 10 mx 5 m fomel amet sk & 1@t <1 g
et o § ot B 51 TR & 47. The length of the longest rod that can be place
. in a room of dimensions 10 mx 10 mx5 mis:
g 1) 10V
m
) 53m
/g 155 2 5y3m
m
(5) SR TE I = (H gl m
(5) Not attempted
48. fohaa auf #, T 800 Ft TRT 10% Ak Tshafg =
2 R T, 7926.10 2 T AF = T T 48. Ir(lE how many years will asum of X 800 at 10%
; A Per annum compound interest, compounded
HaAITST 2 & - semi-annually become ¥ 926.10 ?
1 1
(i (1) 23 years
2 2L o 2l
(2) =<3 @ 27 years
1 1
‘/wr 15 T (3) 15 years
1
@ 1z @ 13 years
(5) I T & e () Notattempteq
R 70 a7 % 1672 2eiTt | SPACE FOR ROUGH WORK o
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00 eftex gy Ten W & fagor A guoawr wE
g 3¢ 1 %1 ¥ firsm N fopan gy o sren s

i 78 T 4 ¢ 1 B ST ?

49.

(1) 5 &t

(2) 6FT
3y~ 7 R
@) 4R
(5) S N Fed
0. 0.2x0.2+ 0.0l o o7 gy w, it &M
1x 0.1+ 0.02
//f_l_
/H’f W
9
2 3
5
B 3
41
@ 13
(5) oW Tl < =ed
4
51. fc faeit ag o1 fasra ed <6 %3 474 A1 5 T
€, 39 9 H ey wiaw €
l0
(1) 25-%
) 33%%'
@) 16%%

]

(5) == AE = =ed

49.

50.

51.

20 litres of 0 mixture containg milk and water
in the ratio 3 ¢ 1, The amount of milk to be
ndded to the mixture so as to make the ratio
4:1,18:

(1) 5 litres

(2) O litres

(3) 7 litres

(4) 4 litres

(5) Not attempted

0.2 % 0.2+ 0.01

: TPy f jves ;.
Simplification o 01%0.1+0.02 )

41
AR e
9
@ 3
, 5
@ 3
41
4 17

(5) Not attempted

4
If the selling price of an article is 3 times its

cost price, then the profit % in the transaction
is :

(1) 25—21—%

(2) 33-:‘;—%

(3) 16%%
(4) 20-1~%
2

(5) Not attempted

HANTV / F2
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Ao o

1 , 1 i ‘
52. ATEFH @ 7 T 10 T F o g ¥, B St 5. /\candoZOfaWO‘"km 10 days, B can g,
F F140% WA H 20 feq o & safn
C 34t . 1
1 - of the work in 20 days and C can do 3 of)
FR B 9T 13 R F o e ) A e s
3 work in 13 days. Who can complete the wh
R TR T R g work in minimum time ?
M € '
, (1) €
AT C A (2) - Aand Cboth
:j; . @ A
. 4 B
5) SR < (5) Not attempted
53. AR (a+b) : (b+c) : (c+a)=6: 7 : 8 A 53. If (a+b) : (b+c): (c+a)=6 :7 :8,
a+b+c=14% @Ac?: a+b+c=14, thencis:
(1) 8 (1) 8
2 14 2 14
7 &I <A AR o
B) (5) Not attempted
THereR T =R o boml ;
54. A, BTACH bl #3500 . 54. A, B and C together invested Z 50,000 in
g A ¥ B | T 4,000 3y @€ 941 B 7 C : business. A invested ¥ 4,000 more than
% 5,000 3fieh &MY, T X 35,000 F FA A H and B invested ¥ 5,000 more than C. Outo
AH YR total profit of ¥ 35,000, A received :
] %13,600 (1) %13,600
(2) 14,700 (@) 14,700
(3) 8,400 B) 8,400
4) ¥11,900 (4) 11,900
(5) SW® I} A1 9ed (5) Not attempted
™ o1 A L
55. TH &R 1%@m F 0 i wadt 21 fwedl/da ¥ | 58 ﬁx Cl?r; /gﬁeiSSQ-O metres in a second. Its P
TqH! M @ '
1 36 (1) 36
72 : @ 72
(5) I A N wed ) Notattempteq
HANTV [ F2 ¥ o1 @ fe1e 22 / SPACE FOR ROUGH WORK e
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se the alternative which best expresses
the given sentence in Active Voice.

The invitation cards will be sent today.
/l')/‘They will be sending the invitation

cards today.

(2) They will send the invitation cards
today.

(3)  They will sent the invitation car_ds today.

(4) They will have sent the invitation cards
today.

(5) Not attempted

Choose the most appropriate alternative to fill

in the blank. :

The noise comes from the river.

(1) over

((2I across

(3) against

(4) Dbesides

(5) Not attempted

Find out the correct indirect speech of the

following sentence. .

He said, “Do you know German 2

(1) He asked me if I knew German.

) 1 asked him if he knew German.
/(,3‘)' He asked me to know German.

(4) He asked me if he knew German.

(5) Not attempted

Find out the part of the sentence which has
an error.
If he is a millionaire, he would help

61. Pick out the synonym of the underlined word

in the following sentence.

The cellphone industry has ushered a new
phase of communication.

(1) heralded

(2) collapsed
completed

(4) given up

(5) Not attempted

62. Fill in the blank with the appropriate option
given below.

If you no confidence in self, you
are twice defeated in life.
/(/1‘] have
(2) having
(3) - has
(4) hadnot
(5) Not attempted

63. Choose the alternative which best expresses
the meaning of the underlined idiom.
He had to confess his crime because he was

caught red handed.
(1)

‘Caught very late
" Caught while doing the crime
Caught sleeping

Caught easily

Not attempted

(3)
(4)
)

64. Pick out the correctly spelt word.

(@) (b) '/(.1/)" minipulation
the Millennium Project in the future., . % manipeulation
(©) d manipulation
1 (© (4) menipulation
2 @ (5) Not attempfced :
@ (a
@ () 65. Choose the most appropriate option to fill in
%)  Not attempted the blank.
Many beggars sat the wall of the
60. Pind out the antonym of ‘absurd’. temple.
(1) , sane (1)  along
% refuse o in
B) silly 3) on
) anxious (4) Dbesides
5) Not attempted (5) Not attempted
WAy
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66. fFrefafiag , -
R, mmﬁmmﬁmm 71, Freifna fodhed & § T I H P
(1) Tt r 3w =iy v o (;) ?;
@) B Fw dfm 14
@) W, A /(‘j)* i
Wﬁﬁ'Wmt
6) SR A (5) TR TG <A A
67. ST favara ¥ A 7 ¥ w3 Yaien sy | 2 St g i AR IR 3 3
fore yatfers oo v 2 - (1) 7o fore T @A
A fria 2y T
(2)  foremacrEt (3) I 3R Tremer B o he
3)  fovarmEH (4) R BT, 7 HE A
4) fover (5) ST TR
(5) SWTEIIMART
_ 73. fou T foRe oI Y A s TR €2
68. ‘T ST o foy § Wt ¥ . Mmﬁw
S o Y@lTohd Vs & foTe waiferss Sy waigarst @ 9
TR : (3) Wity
M (4)
B 6) T
A3 g
@ = 74. I 3R SEF i 1 B g gl
(5) S TR I e 0 W d
: 1
60. ‘St 3 et T TERA’ TR 1 S o1 % : :2: = T
1) @fAFTE o g
@ R e RS
(3) i IRAH RTT ) e
gF CE-E ceazeiasl (5} ST 2wy
5) gt AE o ed -
i | 7S R e o
-~ ,Wﬁ,mmmﬁ%mﬁu—ﬁiﬁz%: L
(1) o + 1Y (1) E@ﬁﬂﬁaﬁq
o + @) SN oy iy
(3) T + 714 (3) meg
(4) u+ T AN @ s
(5) I & A O ST ey
HANTV/F2 mmﬂ%%UIWISPACEWW



76.

7.

78.
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afamon & “weRT Wit ST Tt A & s
b & e feR Tifa st e fee T € 2

(/Ll’)/ 5,300
4,200

(2)

(3 6,500

(4) 6,000

(5) ST M =ed

mm@amé\mﬁuﬁﬁﬂﬁfﬁaﬁmﬁ

W faaR &I
(a) TG, grftaa & fed 1
() 7z @t Tasd 4 99 8
S § & BT/ Y I T /2
(1) (a) 3R (b) S
() A (a) ARTH (b)
9 (a) |
(4) e (b)
(5) SR Tl o =ed
2RO it T SHEE T H G SIS H
T foha gfae & 2
(1) 50%
) 45%
3) 65%
@) 55%
(5) SR <A =R

79, efamon <A U 1 faerd 37 & fag 9iee Sear

e ——
HANTY / F2

76.

77.

78.

79.

)

How many villages are approximately covered
currently under the scheme ‘Mahara Gaon -

Jagmag Gaon’ in Haryana ?

(1) 5,300
(2) 4,200
(3) 6,500
(4) 6,000
Not attempted

Consider the following statements in respect
of Motilal Nehru School of Sports.

(a) It is situated in Rai, Sonipat.

(b) It is affiliated to CBSE.

Which of the above statement/s is/are
correct ?

(1) Both (a) and (b)
(2) Neither (a) nor (b)
(3) (a)only

(4) (b)only

(5) Not attempted

What is the approximate percentage of rural
population of the total population of

Haryana ?

(1) 50%
(2) 45%
(3) 65%
(4) 55%
(5) Not attempted

Bhainswal Kalan, famous for giving sportsmen

el forw foel & feara 872 to Haryana and to India is situated in which
\)” e district ?

2) e (1) Bhiwani

e (2) Sonipat

3 Ve (3) Rohtak

e (4) Karnal
(5) =W A & ARd (5) Not attempted
Page 17
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Which one of the following places is ; .

80. ﬁﬂﬁf@ﬁ ¥ § F-w e s wreen @ | 80 for Indian Women Hockey players ?
faemfei & forg s < & 2 (1) panchkula
EECTll 2) Shahbad
)(g‘/ NIEEIH (3) Faridabad
FHQEIR (4) Gurugram :
'/((i;/ (5) Not attempted
(5) SR S =R s1. Conside'r the folloWing. st.atements.. .
: (a) Masani barrage 18 in Rfau{arl dist,
81. fr=fafaa weri W foam ST () Kaushalya Dam is in Pinjore.
(a) H’H‘Iﬁé’(ﬁ@%ﬁﬁﬁﬁ%l : Which of.the above statement/s is/
(b) e e fisi # feor €1 correct ? .
ST A @ B9/ FH T /T2 (1) Both(a)an
: (2) Neither (a) nor (b)
i il 5 3 (3) (a)only
(2) AT (a) IRAR (b) @ (bonly
@ ¥ () (5) Not attempted
(4) % (b)
(5) W W =Ted 82. Which of the following is not a dance for
Haryana ?
g2, foe & & H-T R 1 I B T €2 (1) Loor
% ' (2) Khoria
,,(J‘)( ;Bﬁm (8) Talghadi
: (4) Phag
(3) et (5) Not attempted
4 1l
(5) SWA 31 =R 83. In which year Haryana was made as 2|
fledged State ?
83, @R famd o U T o2 1 1971
W 1971 ! (@) 1963
2) 1963 ? (B 1962
@) 1962 4) 196
(4) 1966 (S Netatisomste
(5) IR A il o
84. HOW man V.d A A
g4, a3 e faerd W A R (1)ere in gar;agzn?Sabha Constituenci®®
(1 92 ‘ 92
(2) 94 @) o4
g/gg (B) &8s
¢ @) 9o
e
5) I an () Not attempteq

HANTV /F2
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o e & e e i Qe o & 7 el 7
@WW%WWW%FWW
q?

(1) T TS
(3) R4t e
4) @.a'?.ﬁ?ﬂl

5) W?ﬁéﬂm

6. ﬁmﬁrﬁ@ﬁﬁ@ﬁgﬁqﬂnﬁwwmﬁ
TEe?

(1) T ot
(g fey ol
(3) @S ot
(4 faw yomet
(5) SO A =ed
7. Pt & e 1 H W Ao o S
e 3 e ST i R € 2
() feer
o fawn
(3) e
@ T=
(5) SR TRl & =

88. eRAMN F 7oy TY P T 8?2

Ny &=

2 ==
LP/ e fexon

(4) @l

(5) <O e < =Rd

85.

86.

87.

88.

Who amongst the following former UPSC
members was an IAS Officer of Haryana

Cadre ?
(1) Mata Prashad

(2) Subir Dutta
(3) P.C. Hota

(4) S.K Mishra
(5) Not attempted

gst the following is not a canal

Which amon
aryana ?

network system of H
(1) The Yamuna system
(2) The Indus system
(3) The Bhakra system
(4) The Lift system

(5) Not attempted

the following districts of Haryana

Which one of
with Punjab and

shares border both
Rajasthan ?

(1) Hissar

2) Sirsa
(8) Kaithal
(4) Jind

(5) Not attempted

The State Animal of Haryana is :
(1) Camel

(2) Tiger

(3) Black buck
(4) Elephant
(5) Not attempted

HAN
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m

h amongst the following is not 5 :

89. fr=ifefag - :
T ;)ﬁ HH-1 B 1 %1 URfie dromer 1 | 89- g:rl;ana’s traditional attire ?
(1T (1) Eza:l’:“
. 2) 0
2 (
(2 <= T
& WT?:'T (4) Chunder
@ W (5) Not attempted
(5) I TE < e
90. Where is Bir Shikargarh Wildlife San,
90. SR RIS St a1vaRvy et srafier &7 located ?
(1) dEgHen (1 Panchkula
2 O (2) Karnal
B) @ (3) Kaithal
4) i< (4) Jind ;
- t
(5) S TE =Y (5) Not attempte
o1. < e e o e | 21 WA R S st o
R < Tt 2 =
(1) ¥75,00,000
1~ 75,00,000
(2) ¥25,00,000 (2) ¥25,00,000
(3) ¥51,00,000 (3) ¥51,00,000
(4) 1,00,00,001 4) ¥1,00,00,001"
(5) ST TR ol =R (5)  Not attempted
92. &Rl Yo s el ST € 2 92. Where is Chinkara breeding centre loca
c/m/ TR, gl (1)  Morni, Panchkula
(2) &, fart () Kairu, Bhiwani
(3) et FEaA (3)  Pipli, Kurukshetra
4 .
4) fear :5) Hissar
(5) SR TE < =Ed ) Notattempteq
LTS Gt 93. Where ; : .
03. YA YaUA HEd g ¥ el AR @2 °r¢ is Indian Instityte of Manager™
ar located in Haryang o 1
19 () Bhiwan;
@ (@ Karnal
2)." Ty @ P anchkula
(4) TETH (4)  Rohtak
(5) I Ad & = 5 No
PR B e tattempteq
HANTV / F2 7 @ & fore &I/ SPACE FOR Rougy =
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35.

97.
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o ¥ Q) e Ul TR ¥ 3T g e
firg TR W e §?

(1) FE
@) AT
(3) TR
TeRTS
(5) ST A D

o e ) Tea Fi S T e fiE e
st 3 e 7 3 e 52 fl 7 T A2

(1) ST e
) TREN TG qRI
3) TEERI HaTS Hre

@ TTeET THEH! Hifed

(5) SRR o = ed

i = A e Fretated 3 9 fees o g
o ?

ALy e ST SR A e

(2) T feg e &R Sl
(3) IR we 3T TSt

(4) STENR Y STl SR TS
(5) S| S =R

Yo TR T =T e ff s S o S
e # aifure’! % w9 H HAR S € 2

(1) e HTEER
@/‘aﬁaﬂm
(3) HEdl HIEER
(4) TEUHTAR
(5) SR AL A =Ed

94.

95.

96.

97.

Two most important

monuments of
‘The LAT and the Humayun Moosthe e
located at which place ? pile

(1) Kurukshetra
(2) Naurangabad
(3) Fatehabad

(4) Mahendragarh
(5) Not attempted

Identify the place where Guru Gobind Singh
stayed for 52 days after the battle with Hill

Kings ?

(1) Dhamtana Sahib

(2) Gurudwara Lakhan Majra
(3) Gurudwara Kapal Mochan

(4 Gurudwara Damdama Sahib

(5) Not attempted

The Third Battle of Panipat took place
between :

' (1) Shah Alam and Muhammad Shah

(2) Guru Gobind Singh and Aurangzeb

(3) Nadar Shah and Aurangzeb

(4) Ahmad Shah Abdali and the Marathas
(5) Not attempted

Which day of every month is celebrated as
“Tithi Bhojan Beti Ka Janmadin School me
Abhinandan” ?

(1) 3 Tuesday
(2) 4th Tuesday
(8) 1st Tuesday
(4) 2nd Tuesday
(5) Not attempted

. HANTV / F2
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98.
FT-TT T & ) FE A i 7 il
(1) =a
(2) o7l
3) eem
( LiEsHy
(5) ST I < =R
00. ERAN I it Tk T AT - faeen Ay F aR & 99.
Frfafad el ) fa=r sifsu )
(@) 21 o i T i s feen T ¥
(b) 99 T 1,800 Ufa wrE e faan S § 1
ST B A H-T1/ A F w22
(1)-  (a) 3R (b) QA
(2) T (a) T (b)
(3 (a)
(4) e (b)
(5) SR AR & =R
100. mmaﬁqﬂa(sﬁm@ﬁ.) FanH Frfared | 0.
o R faar Hifs
(a) ERATONH Stog gl e o S.gE.SLl.
3 eAferh |
TR Al <t . <. B % . TH.EL .
g i € ‘
wgaaﬁ@aﬁa—m/ﬁmvﬁ%/%?
a)  (a) SO T
@) a4l (a) A g (b)
3) I (@)
@ (b)
(5) W?ﬁ%‘ﬂ%ﬂ?ﬁ
.0o00-
HANTV / F2

D

:2’s Environment R

r the India’s €port -,

As per rank of Haryana S't".j'
Sustainable DeveIOpmem"r'

achieving
(SDG-2030) ?
m 6

(2) 8th

3 1%

(4) 3rd

(5) Not attempted
following statements g,

Consider the
cheme - a State Sche;

Widow Pension S
the Government of Haryana.

A woman of age 21 years and aby

eligible.
It carries an allowance of ¥ 1,800,

(a)

(b)

Which of the above statement/s is,
correct ?

(1) Both (a) and (b)

(2) Neither (a) nor (b)

(3) (a)only

4) (b)only

(5) Not attempted

Consider the following statements about G
State Domestic Product (GSDP).

() GSDP of Haryana is more than th
Karnataka.

(b))  GSDP of Maharashtra is more tha?
of Haryana.

Which of the above statement/s is
correct ?

(1) Both (@) and (b)

(2) Neither (a) nor (b)
(3)  (a) only

(4)  (b)only

(5)  Not attempted
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